MATH 125 College Algebra Name

Composite Functions

Notation: (fog)(x) = f(g(x)) (gof)(x) = g(f(x)) (hofog)(x):h(f(g(x)))

(f composite g) of x (g composite f ) of x (gohof)(x)=g(h(f(x)))
f(x) = Vx-1 g(x) = x?
Domainof f : { x| x21} [1,) Domain of g : All Real Numbers
(fog)(®)= (gof)(5)=
(fog)(x)= (go f)(x)=
h(x) = = = x1 K(x) = —2—
X x+1
Domainof h : { x| x=0 | Domain of k : { x| x=-1}
(hok)(Z): (koh)(Z):
(hok)(x)= (koh)(x):
f(x) = L h(x) = x? g(x) = 4x+1
x—1
Domain of f: { x| x;tl} Domain of h: All Real Numbers Domain of g: All Real Numbers
(hogo f)(B)=h(g(f(B)) )
(hogo f)(X)=h(g(f(x)))
Determine f and g under the condition that Determine f and g under the condition that
h(x) = (fog)(x) and h(x) = (5x+2)° h(x) = (f o g)(x) and h(x) = ¥/ 3x-1
f) = f(x) =

g(x) = g(x) =




X Xx-1

R(x) = — T(X) = —
X+1 X
Domain of R :{ x|x=-1} Domainof T :{ x|x=0}
(—oo,—l)u(—l,oo) (—oo,O)U(O,oo)
Domainof R+T , R-T , R-T :
Domain of i : Domain of TF :
(R+T)(x)= (R-T)(x)=
(R-T)(X)=
R _ T _
T R
P = X Q) = VI
Domain of P(x) : { x| x>0 | Domain of Q(x) : { x| x<4 |
[ 0, oo) (oo, 4]

Domain of (P+Q)(x), (P-Q)(x), (P-Q)(x), (P-Q)(x) :

|0

Domain of E : Domain of

(P+Q)(x)= (P-Q)(x)=
(P-Q)(x)=

O

P
Q



